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1 [bookmark: _Ref124589705][bookmark: _Ref129681862][bookmark: _Ref129681832]Introduction
In [1], we discussed SL mode 2 operation including mode 2c. During the RAN1#95 meeting, resource allocation mode 2(c) was extensively discussed. A contribution was submitted [2] to describe the patterns used to generate the system level simulation (SLS) results shown in [1]. More questions were asked. In this contribution, we provide detailed answers to these questions in order to ensure that every company has all the necessary information to simulate mode 2-(c).
2 Answer to questions on SLS for mode 2-c
2.1 Question 1: As discussed yesterday, you didn’t provide the information about frequency domain in the pattern you used in case of Mode 2 Aperiodic -Model 1. So does it mean complete bandwidth is used in your simulation and pattern is only in the time domain?
The pattern is both in time and frequency domain.  The information about frequency domain in the pattern for AP1 is provided in [2]. For aperiodic mode 1 traffic, a 10x3 time-frequency grid with TFRP pool design described in Figure 5 is used, the TFRP pool is repeated 4 times in the time domain to create a pool with total of 45x4=180 TFRP patterns. There are 3 frequency resources in the whole band, and the corresponding TFRP pool is shown in detail as in [2, Figure 5], reproduced below for convenience. 
[image: ]
Figure 1 Example of partially overlapping TFRP pool.

2.2 Question 2: Can you confirm in case of Aperiodic Model -1 in your simulation only pattern is allocated to each UE randomly without using any genie information of UE locations? The pattern you generated is just by repeating figure 2 (of your contribution) 3 times. So each pattern has only 6 slots available for transmission out of every 21 (7X3) slots. This point is very important and must be used consistently in both Highway and Urban case. Otherwise it will be hard to take out any meaningful analysis of the mechanism. 
No genie information of UE location is used. The TFRP pool used is described in the answer to question 1. To be clear, it is not the 6 slots available for transmission out of every 21 (7x3) slots that is described in question 2. It is the 10x3 time-frequency TFRP pool of Figure 1.  
2.3 Question 3: Since your contribution has only provided result for Highway and as  mentioned yesterday (Wednesday) that it is important to see result for Urban drop while using exactly the same pattern as you used for Highway, otherwise your analysis about the performance of the scheme is not complete.
We will provide results for the urban scenarios in next meeting (RAN1-AH-1901). We expect to see good performance for the Urban scenario as well.
2.4 Question 4: Can you provide how many RBs are used for each packet size in case of Aperiodic model 1?
[bookmark: _GoBack]We used a fixed size (36 RBs in this case but no requirement to evaluate this specific value) for all packets for both mode 2 (a) and mode 2 (c) for aperiodic mode 1 for the purpose of fair comparison. A different frequency resource size can be used but this depends on the available resources and granularity of sub-channels. 
2.5 Question 5: Do you used retransmissions and HARQ combining? If so what is the max retransmission?
Two transmissions per TB with combining are used for 2a and 2c. We did not use HARQ retransmission/feedback on top of that.
2.6 Question 6: You have provided results for 100 MHz. In my opinion it is too wide and even random selection can perform ok. It would be better to see results for more realistic situation e.g. 20 MHz as well.
We will provide results for 20 MHz in next meeting. 
2.7 Question 7: One minor comment, in your result you used “distance index” in the X- axis. Can you clarify what is the bin size you used so that we can see it in terms of meters, or alternatively you can provide the results in (m).
Distance index is following the description of average PRR in TR 37.885, bin size is 20m. So, the first bin is for 0-20m, and so on.

3 Conclusions 
In this contribution, we provided further clarifications on mode 2-c resource allocation system level simulations in response to the extensive discussions of mode 2-c resource allocation during RAN1#95.    
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